4 ‘ 3 fa 1

TR s RELEASED FOR PUBLICATION 2015 Loc DIST REVISIONS

(C) COPYRIGHT 2015 BY TE CONNECTIVITY ALL RIGHTS RESERVED. - - T TR SESCRIPTION DATE 5w T APVD
NC NEW RELEASE PER E.O. P19476 I 3APR200T - RDR
A REVISED PER ECO-15-005844 I6APR2015 | PV DM

—~=— 820 @110 [2.79]

[20.83] N S BLIND HOLE

(3 0] Vo315 [8.00]

‘ #4-20 SCREW 4X

FLANGE SEAL

+

N
8\\
y

3
(0)
4
(©)

|
T
)¢
)
\
I HDSlﬂEIIG/()/><

175 —]
[4.45] T
— 5 0
N l 856
- |

TT L

2
®
5
(0)

[32.89]

1
)¢

991
[24.16]

|
>
6

(©)

() <
(NN
2\, = S A1 A
[1.57]
| K\\\ j
v NN\ |
@.\30 [3.30]
BLIND HOLE 1
o440 [, 18] Lol 350 e DATE LODE
#6-19 SCREW 2X :
[9.12]
ATHSCONNECTOR IS MODIFIED FOR 5 P.S. 1. APPLICATIONS. - 84 E——
[21.34]
6. MOUNTING SCREW TORQUE VALUES ARE AS FOLLOWS:
$#6-19 SCREWS: [3+2.0 IN-LB [I.47£.23 N-M]. - [ 388 =
$#4-20 SCREWS: 84+2.0 IN-LB [.90£.23 N-M]J. [35.25]
VALUES VALID FOR PLASTITE 48 SCREWS ONLY. @
5. RECOMMENDED MOUNTING SCREWS (NOT INCLUDED): CAMCAR PLASTITE 48. TCPN ALITAS PART NUMBER
4. THIS RECEPTACLE MATES WITH DTO6-6S-XXXX PLUG (XXXX = ALL MODIFICATIONS.) DT15-6P-GPO | DT15-6P-GPO |
@ 3. CONTACT PLATING- MATING SIDE: GOLD; PCB SIDE: TIN B
THIS DRAWING IS A CONTROLLED DOCUMENT. [DWN
@A MATER AL : e TALAGON, o a=TE = comeciinity
SHELL, PA GF*3O (GRAY) DIMENSIONS: OTTHOELREWRIASNECESSPEUCNILFEISESD- AP%D BYFORD‘QMAREOO? NAVE
SEAL: SILICONE (ORANGE - RED). INCHES [mm ] ' S BFARD PCB MOUNT RECEPTACLE 6-PIN
PIN CONTACT: COPPER ALLOY ?Etg ii PRODUCT SPEC GPO| MOD DT SERIES
@E”“ + A 108-151009 ;
@ D‘MENS‘ON TOLERANCE j:OZS [64] igtg i: ArTLICATION ST SIZE CAGE CODE | DRAWING NO RESTRICTED TO
PANEL CUTOUT £.010 [.25]. ANGLES +0°3070" -
PIN LOCATION: +.005 [.13] HATERIAL P VE1GHT 21.8 g |A 3/4AFUB|C=DTI5-6P-GPO -
MOUNTING HOLE LOCATION: .010 [.13] A c ‘ SCALE SHEET oF REV
ustomer Drawing D | \ 0 A

1470-19 (3/11) ‘




4 ‘ 3 fa 1
TS DRAWN——LAPE] [SHFD RELEASED FOR PUBLICATION 2015 =< — =TT
@ COPYRIGHT 2015 BY TE CONNECTIVITY ALL RIGHTS RESERVED. . . : _ N DATE _ -
SEE SHEET |
D
i & A B —— ~— 99—
[25.17] R.220 4 X [25.17]
[5.59]
R.250 4 X

R.040 2X [6.35]

[1.02]

A // i /
860 @ 860 %
[21.84] [21.84]
1o g< \ | -
@ 155 2 //\/ R.060  2X k

@ . 155 2
N A
[3 94] [1.52]
~-—— 863 ——
[21.927]
. [ 95 ———————=—
- | 295 - [372.89]
[372.89]
B RECOMMENDED PANEL CUTOUTS
THIS DRAWING IS A CONTROLLED DOCUMENT. |OWN I5FEB200 T
CHé'MALAGON\gMARgom - TE TE Connectivity
PIMENSTONS: OTHERWISE SPECIFIED: AP%5 BYFORDWMAREOO? NA
INCHE S [mm ] ' PRZDUCTSPAEED PCB MOUNT RECEPTACLE 6-PIN
0 PLe £ GPOI MOD DT SERIES
A R il 108-151009

@Ei Etg i: A APPLICATION SPEC }
4 PLC +- o SIZE CAGE CODE | DRAWING NO RESTRICTED TO
ANGLES +0 30°0"

MATERIAL FINISH WEIGHT 218 g A\g AAFUS (EEDT\5*6P*GPO‘ _
SCALE SHEET oF

Customer Drawing

2|

REV
A

1470-19 (3/11)




	Sheet 1
	Views
	main_view
	right_2
	right_3


	Sheet 2
	Views
	main_view
	main_view
	new_view_10



